Math 4
. Examl
September 1, 1998

Name K E:Y

Show your work.

[ Solve for x
7 _ 8x
2x+1

@ =4 7 @ b)

2x~1
| Fax=0=8x (ax+l) -y
; (Rx+N@x=1) ; .
} 14 x=F~ 152 ~8x =4 (947 1)
by =3 +4=| x= 4

Solve for f (Answer must be in simplest fractional form.}

p__f '
8 =
( g 9-f
o gefegt
| ry=gF*ef
P% =(F-\—8)‘F

s

Pt
3. Solve for wby factoring (Show work for credit.)

®  wr+6w-8=0
Bw-2)(3w+4)=0

—-

w= 343 of ws= :%

Instructor _Frieh
Class Time R:30

]§2+6x|=3x+38

x2+3x-18=0
{x = Dx+p)=0

LD
br=_*3 =L

oR x2 #ix +I8=0
T (xr)xre)=o

w= 773, _-4/3

4. . Solve by completing the square. (Show work.) Answer must be in simplest radica form or simplest

a + bi form)

®  3x°-8x+2=0
]




5. Solve by quadratic formula (Answer must be in simplest radical form, simplest a + bi form, or simplest
fractional form.)

©) Sx2+x+1=0

x= "L E Ji- 20 - t J-4

q

lo o
==+ _—
X LAVANIT] STy T
io = a) —
o :
Loy 0,
X = U lo L
6. Solve the following inequalities. Graph the solution and write your answer using interval notation.
5) a, 2x+7<3 .
2% 2 -4 - M | >
=]
X “=-3 Interval (20, =2)
) b. -2<3x+1<10
' “323%x219 < _$\+' ——>
-l 4x 23 : Interval (Gl 3)

x-3 .
5 . =25 distawe s \qg& :
® ¢ 2 ' _' . -3 12 a
X-2 -5 & 25_"_3 > 5
= = C a7 Interval _(-20,~73 U LI3, 20)
Xx-3 € -0 X-3 20
X &-F X 213
® d 3x—'5>4 Q—E @ ©
x=35 ':l 5 % .'S :r_
xX~5 4(x-s.
3—-""- had ’_—) P/ Interval (s, 153
XS X-g

- X +1§ 5 CE i humest XF S, x=15
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7. Perform the operation and write the result in standard (a + bi) form

; . (4-i)— 3¢
) Qﬁ_i = .(Lti_)_———l'————

i 4-i Yyi-i?
= 443~ -FL
T
= ‘f+} 5 ~fi+]
R I
= ~0+S 2. € 20
‘ﬁ:;,“'- ﬁ'""T? Std.Form __ 3 ~ 3 ¢

8. Find all solutions of the eguation.

2
& 6(L) +5[L)-6=o
s+1 s+1

S _-sxlas+ i _-sx13_ 2 8 2.3

S+ T 12 T 12 92, 2
S. . 2 5. - 2 :
Sy - 3 51 2
352 2 Is=-35-3 - —y
' +1 5<5=—5 ' s=_ 2,705
- @="3s '
9. Find all solutions of the equafion: )
(@) Jx+1-3x=1 k
X+ = (43x)% 1+ bx+Ix2
A sx = p _
x (9x+S Y=o '
X=0 orR X* % %+
e L K-2x%°3%
ER) 3 x=_0

10.  On the first part of a 350-kilometer trip, a salesperson traveled 2 hours and 15 minutes at an average speed
@) of 100 kilometers per hour. Find the average speed required for the remamder of the tnp if the salesperson
needs to arrive at the destination in another hour and 20 minutes.
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11.  Find the standard form of the equation of the specified circle: center (+3,-2); solution point (-1,1).

(x= )3+ (yra)'= & r= diskance Som cender to circle
' = Jem+ (-2-1)?
= Jle s 9

o =g
-2+ (y+2)*= 35

In exercises 12-17 match the equation with its graph. Place the correct letter in the blank. [The graphs are labeled
(@), (b, (), (d), (e), and (f).] (2 pts ea)

12. y=1—x _______C:__'_ 13_ y:xz—Zx __L -
14. y=+o-x2 __ &£ 15. y=24% e
16. y=xl-x+1 b 17.  y=|x|-3 d

(b) y

(d

(& )




